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[03] | COl | L2

Grade 1 wheat is traded in the market for Rs.1,600 per quintal, a 6 month,| [07]] COI L3
Futures contract on this wheat traded at Rs.1,675. The size of one futurel
contract is 1 quintal. An amount of Rs.25 has to be paid storing 1 quintal wheat

for 6 months. The risk-free rate of interest continuously compounded is 8%
p.a.

Part A - Answer Any Two Full Questions ( 2* 20 = 40 marks)
1(a)
®)

ifferentiate between maintenance margin and variation margin.

i. Is there any arbitrage opportunity here?

ii.  If so, design an arbitrage and state how much profit can be made
from this?

(©) Using the following data prepare a margin a/c for the investor. Assume that ifa| [10] | CO1 13
margin call is made at a time and the investor takes short position, one contract

size is 500 units, unit price is 22, number of contracts is 8, Initial margin =

12%, Maintenance margin = 3/4th of initial margin. The date of contract is

3/6/2020. Price on the following data.

Day | June4 | June5 | June 6 | June 7 | June 10 | June 11 | June 12

Price | 2230 | 23.10 | 22.90 | 23.00 | 23.15 22.85 22.95
2 (a) Who is a Hedger?

[03] | CO2 | L1

(b) Briefly explain futures and options. [071 | CO1 12
(c) |A portfolio manager owns three securities as detailed below: [10] | CO1 1.3

Security | No. of Shares | Price per Share (Rs.) | Beta

A 15,000 40 1.2

B 25,000 20 1.8

| C 15,000 60 0.8

Find beta value for this portfolio.

3 (a) Define arbitrage. [031 | CO2 L1
(b) Bring out the difference between futures and options. [07] | CO2 o

" (¢) |An investor bought 10 T-bills future contract trading on IMM at Rs.96.72.'The [10] | COIl L4
initial margin requirement is Rs.2,000 per contract with maintenance margin of
Rs.1,500 per contract. The settlement price of T-bills future contract for 9
trading days are as follows:

Price | 96.75 | 96.68 | 96.63 | 96.59 | 96.54 | 96.50 | 96.55 | 96.60 | 96.64
The investor closes his position when future price was 96.67. Show the margin
account balance and the gains from future contract. Size of a contract is 2,500.
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Part B - Compulsory (01%10=10 marks)

- S May 2020 [10]
1) An investor Mr. Kairav has constructed a portfth(: :: .lvenl\’éez’ow:
consisting shares of ten companies; the details of which are gIven beo 7>

SL Market No. of Shares Beta Value
No Stock Price __’_d(R_S,)___.——— (Rs.)
T | Apollo Tyres Lid. | 250 1000 | 09
2 | Arvind Ltd. 370 950 | 069 |
3 | Bata India Ltd. 580 750 075 |
A Ajanta Pharma 1.460 400 0.55
Ltd. ’
5 | Biocon Ltd. 400 650 045 |
6 Exide Industries 217 900 1.07
Ltd. .
7 | Federal Bank Ltd. 117 1,500 | ---128 4 -
8 IDFC Ltd. 58 3,000 0.81
9 Voltas Ltd. 500 ’ 500 1.52
10 | SRF Ltd. 1,511 300 1.99

The continuous compounding, annual cost of capital for the investor 1s
15%. The investor fears that the market will fall in the near future due to
occurrence of war between China and India and hence wants to hedge the
portfolio without selling the shares in the portfolio. Since the investor is not
aware of the hedging strategies available, you, being the financial analyst,
are requested to explain the investor various options available to hedge the
portfolio and choose the best one. You are also required to:
a) Calculate the theoretical value of the futures contracts expiring in July]
and August 2020 if the Nifty is currently quoted at 9,500.
b) Find whether or not the futures market and spot market price are
consistent so as not to offer an arbitrage profit if July and August
futures are currently trading at 9,700 and 10,000 with lot size of 75.
c¢) Find out the numbers of Nifty futures contracts required to be shorted]
to hedge the entire portfolio of the investor until July and August 2020.
d) Find out the number of Nifty futures contracts required to be shorted to
hedge to the extent of 90% and 125%% of the portfolio until August
2020.
e) Find out the numbers of Nifty futures contracts required to be traded if
the investor descries to reduce beta of his portfolio to 0.80

Coﬁrse Outcomes (COs) ™ I~ | n
Qo ! 0 ©| Q
! e A R A | A R
? Understand the mechanism of forwards/futures, options, | .
i‘ CO1: | financial swaps, various credit derivatives and VaR with Ia, 1b, 1c,
; their features, merits and demerits. ) 2b, 2¢, 3¢
| CO2: | Assess the application of forwards/futures, options, financial | 2a, 3a, 3b,
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